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ExamPlC: A baseball is struck at a height of L.lm
R_ - above the ground. T hree seconds later, it

reaches its m_awh’e_i_gbj; of 45.2m T he

7:;!"%(. beig t of the ball's trajectorgLs a second

dcgree Fungt:on.gnc tune.

verkx ()
\ Jig=alx- h\j k

?0\:\{ (x \
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\/\/e know:

(_an find:

December 02, 2022

h kK

I Vertex  V(3:452) .
%y
0

2. [oint P(0,1.1)

f®)=a(h-h) +k
f(t)=afk-3)" +452
L.1=a(0-3) +452

Equation

1.1=a(-3) +452
1.1=9a+45.2

-6.2 -Us. 2
—44.1=9a
9 q
—49=aqa

S f(t)=-49(1-3) +45.2
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X

Y
a) yyhat is the ball's b.ngj;agter 2 scconds?

f(t)=-4.9¢¢—-3)" +452
let X=2

f(2)=-4.9(2-3) +452
f(2)=-4.9(-1)" +452
f(2)=-4.9+452
f(2)=403

T he ball's height is40.3m
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b) . At What?“c‘ime would a Plager catch the ball 2?2”1
above the groun& K

f(t)=-49(t-3) +452

let y=2.2
2.2=-4.90—3) +45.2
-45.2 -4
—A43=-490 —3)
"9 45

780 3)

=
+2.96 % —3 — 1) 2.96 =13 3 2) —%.936 =x+—33
5.96 =4 0.04 =%

The Plager catches the ball after 5.96 seconds.
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c) l]C no one catches the ba”, when will it hit the
groun&? h’.(%‘t’- (0] &S
f(t)=—-49(-3)" +45.2

lety=0 f
0=-49(-3) +45.2

—452=-49(t-3)"

9.22 ~ (1 -3)’
+3.04~1-3 ——  604= \)—0044

reject

The ball hits the groun& after approximatelg 6.04 s
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d) What is the domain and range of this situation?

Domain: [O', éoh,]
Range: 10,952 (5,

(4o41)
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Worc! Froblems

i. A compang’s Promcits and losses R can be
reprcsente& !33 the equation R(x) =x* —10x+21
where ¥ is the number of months since the start of

the year. For how many months did the company

incurlosses ?

i
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R(x)=x2—10x+21
A‘L j‘-‘O 3 7 x

O= x2-10x+2

0 &~7X%-3) 5]

’)Y:]:O N\X"5=0
x7 3 17
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